CONTRACTOR'S PAY REQUEST	DISTRIBUTION:
City of Windsor Heights, Iowa	CONTRACTOR (1)
2017 Sidewalk Improvements	OWNER (1)
BMI PROJECT NO.A13.113494	ENGINEER (1)
WORK COMPLETED THROUGH MAY 25, 2018	BONDING CO. (1)
TOTAL AMOUNT BID PLUS APPROVED CHANGE ORDERS	\$923,634.00
TOTAL, COMPLETED WORK TO DATE	\$716,144.60
RETAINED PERCENTAGE (5%)	\$35,807.23
TOTAL AMOUNT OF OTHER PAYMENTS OR (DEDUCTIONS)	\$0.00
NET AMOUNT DUE TO CONTRACTOR TO DATE	\$680,337.37
TOTAL AMOUNT PAID ON PREVIOUS ESTIMATES	\$552,234.15
PAY CONTRACTOR AS ESTIMATE NO. 8	\$128,103.22
Certificate for Partial Payment	
I hereby certify that, to the best of my knowledge and belief, all items quantities and pri	ices
of work and material shown on this Estimate are correct and that all work has been	
performed in full accordance with the terms and conditions of the Contract for this proj	ect
between the Owner and the undersigned Contractor, and as amended by any	
authorized changes, and that the foregoing is a true and correct statement of the	
contract amount for the period covered by this Estimate.	
Contractor: Kingston Services PC	
1444 Illinois Street	
/ pes Moines, JA 50314	
/ // 30314	
By //W// Sr. Pro	oject Manager
Name	Title
Date 05/25/18	
CHECKED AND APPROVED AS TO QUANTITIES AND AMOUNT:	
ENGINEER: BOLTON & MENK, INC., ENGINEERS, 309 E. 5TH STREET, SUITE 202, DES MOINES,	IA 50309.
1 Les 1	
By Water Crust , PROJECT ENG	GINEER
·	
Date 5/29/2018	
APPROVED FOR PAYMENT:	
OWNER:	
Ву	
Name Title Date	<u> </u>
ivanie litte Date	
And	
And Name Title Date	<u> </u>
i ivalle Date	

CONTRACTOR'S PAY REQUEST

00

City of Windsor Heights, Iowa
2017 Sidewalk Improvements
BMI PROJECT NO.A13.113494
Del Matro Ave.
WORK COMPLETED THROUGH MAY 25, 2018

\$1,200.00 1.00 \$2,100.00 1.00 \$2,100.00 1.00 \$2,110.00 55.00 \$110.00 0.10 \$700.00 4.00 \$700.00 4.00 \$9,883.80 193.80 \$9,000 0.00 \$5,200.00 1.00 \$5,200.00 0.00	00 LS	1.00	\$1,500.00	1 LS	\$1,500.00		0	
		1.0			+-3	0 MAINTENANCE OF POSTAL SERVICE		43
			\$5,200.00		\$5,200.00		0	42
		0.00	\$250.00	10 LF	\$25.00		0	41
	30 SF	193.80	\$5,253.00	103 SF	\$51.00	0 MODULAR BLOCK RETAINING WALL	0	40
		0.00	\$0.00	0 LF	\$125.00	0 CHAIN LINK FENCE, BLACK PVC, 4'	0	39
		4.00	\$700.00	4 EA	\$175.00	0 INLET PROTECTION DEVICE, FILTER SOCK, 9 IN.	0	38
		0.10	\$1,050.00	0.5 AC	\$2,100.00	0 EROSION CONTROL MULCHING, HYDROMULCHING	0	37
		55.00	\$4,800.00	2400 LF	\$2.00		0	36
		1.00	\$2,100.00	1 LS	\$2,100.00		0	35
	00 LS	1.00	\$1,200.00	1 LS	\$1,200.00		0	34
		0.58	\$3,000.00	0.5 AC	\$6,000.00	0 HYDRAULIC SEEDING, SEEDING, FERTILIZING, AND MULCHING	0	33
\$1,100.00 11.00 STA		11.00	\$1,100.00	11 STA	\$100.00	0 PAINTED PAVEMENT MARKINGS, SOLVENT/WATERBORNE	0	32
\$1,200.00 4.00		4.00	\$1,200.00	4 EA	\$300.00	0 TRAFFIC SIGNS	0	31
\$3,800.00 1.00		1.00	\$3,800.00	1 LS	\$3,800.00	0 TRAFFIC CONTROL	0	30
\$365.00 14.60		14.60	\$250.00	10 SY	\$25.00	0 PAVEMENT REMOVAL	0	29
55,582.80 1,068.90	SY	1,068.90	\$51,688.00	994 SY	\$52.00	0 DRIVEWAY, PAVED, PCC, 6 IN.	0	28
\$3,712.00 116.00		116.00	\$3,840.00	120 SF	\$32.00	0 DETECTABLE WARNING	0	27
		56.40	\$6,160.00		\$112.00	0 SIDEWALK, PCC, 6 IN.	0	26
\$81,280.40 1,195.30	SY	1,195.30	\$81,600.00	1200 SY	\$68.00		0	25
\$15,128.00 244.00	두	244.00	\$18,600.00	300 LF	\$62.00		0	24
\$11,770.00 1,070.00	SY	1,070.00	\$10,901.00	991 SY	\$11.00	0 REMOVAL OF DRIVEWAY	0	23
<i></i>		39.00	\$720.00		\$16.00		0	22
		0.00	\$1,500.00		\$60.00		0	21
_	50 SY	14.60	\$1,000.00		\$100.00		0	20
		0.00	\$0.00	0 EA	\$1,200.00		0	19
\$1,000.00 1.00		1.00	\$1,000.00	1 EA	\$1,000.00	O CONNECTION TO EXISTING INTAKE	0	18
		1.00	\$2,500.00	1 EA	\$2,500.00		0	17
		0.00	\$0.00	0 EA	\$1,000.00		0	16
\$0.00 0.00		0.0	\$0.00	0 EA	\$1,000.00		0	15
\$3,200.00 1.00		1.00	\$3,200.00	1 EA	\$3,200.00	0 INTAKE, SW-501	0	14
\$0.00 0.00		0.00	\$0.00	0 EA	\$750.00	0 YARD DRAIN	0	13
		0.00	\$0.00	0 EA	\$9,000.00	0 FIRE HYDRANT RELOCATION	0	12
\$0.00 0.00	00 EA	0.0	\$0.00	0 EA	\$3,500.00	0 FIRE HYDRANT ADJUSTMENT	0	11
\$0.00 0.00		0.00	\$0.00	0 LF	\$2,100.00		0	10
\$2,750.00 5.00			\$6,600.00	12 EA	\$550.00	0 WATER SERVICE BOX	0	9
	EA		\$8,800.00		\$550.00	0 WATER CURB STOP ADJUSTMENT	0	8
\$1,000.00 1.00	EA	1.00	\$2,000.00	2 EA	\$1,000.00	0 ADJUSTMENT OF FIXTURES	0	7
14.00	두		\$1,750.00	14 LF	\$125.00	0 STORM SEWER, TRENCHED, RCP, 18 IN.	0	6
\$0.00 LF	두	0.00	\$0.00	0 LF	\$100.00		0	5
2,334.90	SY	2,	\$15,743.00	2249 SY	\$7.00	0 MODIFIED SUBBASE, 4 IN.	0	4
	СУ		\$8,854.00	466 CY	\$19.00		0	3
0.00	СҮ		\$9,660.00	210 CY	\$46.00		0	2
	UNIT		\$7,350.00		\$210.00		0	1
					-			
		2	AMOUNT	QUANTITY	PRICE	F NO. ПЕМ	REF NO.	ĕ
ESTIMATED EST	ESTIMATED EST	EST	ESTIMATED	ESTIMATED	S	JDAS -	SUDAS	Ħ

City of Windsor Heights, Iowa
2017 Sidewalk Improvements
BMI PROJECT NO.A13.113494
Del Matro Ave.
WORK COMPLETED THROUGH MAY 2:

\$268,680.10		\$268,680.10		\$294,469.00			TOTAL AMOUNT:		
\$0.00	0.00 0	\$0.00	0.00 0	\$0.00	0 0	\$0.00	0	0	0
\$16,000.00	2.00 EA	\$16,000.00	2.00 EA	\$16,000.00	2 EA	\$8,000.00	INTAKE REPAIR, MAJOR	0	CO#1
\$2,100.00	1.00 LS	\$2,100.00	1.00 LS	\$2,100.00	1 LS	\$2,100.00	CONCRETE WASHOUT	0	45
AMOUNT	QUANTITY	AMOUNT	QUANTITY	AMOUNT	QUANTITY	PRICE	ПЕМ	REF NO.	NO.
ESTIMATED	ESTIMATED	ESTIMATED	ESTIMATED	ESTIMATED	ESTIMATED	뎔		SUDAS	TEM
DATE	COMPLETED TO DATE	MATE	PREVIOUS ESTIMATE		AS BID				

CONTRACTOR'S PAY REQUEST

00

City of Windsor Heights, Iowa
2017 Sidewalk Improvements
BMI PROJECT NO.A13.113494
64th St.
WORK COMPLETED THROUGH MAY 25, 2018

0.00 LS \$0.00								
			\$1,500.00	1 LS	\$1,500.00		0	43
LS \$			\$4,800.00		\$4,800.00		0	42
LF	\$400.00 16.00	16.00 LF	\$200.00		\$25.00		0	41
	\$17,880.60 350.60	350.60 SF	\$5,355.00	105 SF	\$51.00		0	40
뜌			\$1,000.00	8 LF	\$125.00	0	0	39
EA	\$700.00 4.00	4.00 EA	\$0.00		\$175.00		0	38
AC	\$525.00 0.25	0.25 AC	\$840.00		\$2,100.00		0	37
듀	2,39		\$6,000.00	3000 LF	\$2.00		0	36
LS		1.00 LS	\$2,100.00	1 LS	\$2,100.00		0	35
LS		1.00 LS	\$1,200.00	1 LS	\$1,200.00		0	34
	\$1,200.00 0.20		\$2,400.00	0.4 AC	\$6,000.00		0	33
STA			\$0.00	0 STA	\$89.00		0	32
EA			\$1,200.00	4 EA	\$300.00		0	31
	\$4,000.00 1.00	1.00 LS	\$4,000.00		\$4,000.00		0	30
SY			\$250.00		\$25.00		0	29
SY \$	6		\$34,580.00		\$52.00		0	28
SF			\$1,280.00		\$32.00		0	27
SY		33.50 SY	\$1,904.00		\$112.00		0	26
SY			\$59,160.00		\$68.00		0	25
FF \$			\$11,160.00	180 LF	\$62.00		0	24
\$ YS			\$7,689.00		\$11.00		0	23
40 SY \$278.40		17.40 SY	\$48.00	3 SY	\$16.00		0	22
			\$900.00		\$60.00		0	21
00 SY		0.00 SY	\$1,000.00		\$100.00		0	20
EA			\$0.00		\$1,200.00		0	19
			\$0.00	0 EA	\$1,000.00		0	18
EA		0.00 EA	\$0.00		\$2,500.00	_	0	17
EA	\$0.00 0.00		\$0.00	0 EA	\$1,000.00		0	16
ΕA	\$0.00 0.00		\$0.00		\$1,000.00	_	0	15
EA	\$0.00 0.0		\$0.00	0 EA	\$3,200.00		0	14
ΕA			\$0.00		\$750.00		0	13
EA	\$0.00	0.00 EA	\$0.00		\$9,000.00		0	12
EA	\$0.00 0.00		\$0.00	0 EA	\$3,500.00		0	11
두		0.00 LF	\$0.00	0 LF	\$2,100.00		0	10
EA			\$8,250.00		\$550.00		0	9
EA		6.00 EA	\$11,000.00		\$550.00		0	8
EA			\$6,000.00		\$1,000.00		0	7
LF	\$0.00 0.00	0.00 LF	\$0.00	0 LF	\$125.00		0	6
	\$0.00 0.00	0.00 LF	\$0.00		\$100.00		0	5
\$ YS	1,		\$10,871.00		\$7.00		0	4
00 CY \$5,947.00		313.00 CY	\$5,947.00	313 CY	\$19.00		0	3
	\$920.00 20.00	20.00 CY	\$8,280.00	180 CY	\$46.00		0	2
UNIT		27.20 UNIT	\$1,050.00		\$210.00	CLEARING AND GRUBBING	0	1
				X COLO				
OUANTITY AMOUNT	AMOUNT	OUANTITY	AMOUNT	OUANTITY	PRICE -	NO. TEM	REF NO.	N E
		ESTIMATED EST	ESTIMATED	ESTIMATED	Ī	Š		7

City of Windsor Heights, Iowa 2017 Sidewalk Improvements BMI PROJECT NO.A13.113494 64th St.

MPLETED THROUGH MAY 25, 2018

\$196,260.10			\$196,260.10			\$203,564.00			TOTAL AMOUNT:		
\$0.00	0	0.00	\$0.00	0	0.00 0	\$0.00	0 0	\$0.00	0	0	0
\$2,100.00	1.00 LS		\$2,100.00	LS	1.00	\$2,100.00	1 LS	\$2,100.00	CONCRETE WASHOUT	0	45
AMOUNT	QUANTITY	,ug	AMOUNT	YTITY	QUANTIT	AMOUNT	QUANTITY	PRICE	ПЕМ	REF NO.	NO.
ESTIMATED	ESTIMATED	ESTI	ESTIMATED	ATED	ESTIMATED	ESTIMATED	ESTIMATED	됨		SUDAS	TEM
Ī	COMPLEIED IO DAIE		Z	PREVIOUS ESTIMATE			ASBIL				

CONTRACTOR'S PAY REQUEST

00

City of Windsor Heights, Iowa 2017 Sidewalk Improvements BMI PROJECT NO.A13.113494 63rd St.

WORK COMPLETED THROUGH MAY 25, 2018

Symbol Cy Cy Cy Cy Cy Cy Cy C	\$3,500.00 \$3,500.00 \$9,000.00 \$750.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$2,100.00 \$3,00.00 \$3,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00 \$2,00.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC SEDING, SEEDING, FERTILIZING, AND MULCHING SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HYDROMULCHING INLET PROTECTION DEVICE, BLACK PVC, 4' MODULAR BLOCK RETAINING WALL REMOVE RETAINING WALL MOBILIZATION MAINTENANCE OF POSTAL SERVICE MAINTENANCE OF POSTAL SERVICE	11. 0 11. 0 12. 0 12. 0 12. 0 13. 0 14. 0 15. 0 16. 0 17. 0 18. 0 19. 0 19
CY \$9,200.00 A75 CY \$9,025.00 SY \$11,085.00 475 CY \$9,025.00 LF \$0.00 0 LF \$9,025.00 LF \$0.00 0 LF \$0.00 LF \$0.00 0 LF \$0.00 LF \$0.00 0 LF \$0.00 EA \$3,350.00 0 EA \$0.00 EA \$3,350.00 0 EA \$0.00 EA \$0,000 0 EA \$0.00 <t< td=""><th>\$3,500.00 \$3,500.00 \$59,000.00 \$5750.00 \$1,000</th><td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PANTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILL SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HYDRA INLET PROTECTION DEVICE, FILTER SOC CHAIN LINK FENCE, BLACK PVC, 4' MODULAR BLOCK RETAINING WALL REMOVE RETAINING WALL MOBILIZATION</td><td></td></t<>	\$3,500.00 \$3,500.00 \$59,000.00 \$5750.00 \$1,000	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PANTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILL SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HYDRA INLET PROTECTION DEVICE, FILTER SOC CHAIN LINK FENCE, BLACK PVC, 4' MODULAR BLOCK RETAINING WALL REMOVE RETAINING WALL MOBILIZATION	
CY \$1,7651,00 475 CY \$0,00 SY \$11,725,00 565.7 SY \$3,959.90 1 LF \$0,00 0 LF \$0,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 LA \$105,000,00 0 EA \$3,850,00 LA \$105,000,00 0 EA \$3,850,00 EA \$0,00 0 EA \$3,850,00 EA \$0,00 0 EA \$3,850,00 EA \$0,00 0 EA \$0,00 EA \$0,00 0	\$3,500.00 \$3,500.00 \$59,000.00 \$51,000.00 \$1,000.00 \$1,000.00 \$1,200.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. JOHN SUBPENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILL SWPPP MANAGEMENT WASTILES, WOOD EXCELSIOR, 9 IN. LEROSION CONTROL MULCHING, HYDRO NULET PROTECTION DEVICE, FILTER SOC CHAIN LINK FENCE, BLACK PVC, 4 MODULAR BLOCK RETAINING WALL REMOVE RETAINING WALL REMOVE RETAINING WALL	
CY \$9,2000 475 CY \$0,00 SY \$11,025,00 565,7 SY \$9,025,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$9,000 0 EA \$0,00 EA \$0,00 0 EA \$0,00 <th>\$3,500.00 \$3,500.00 \$5,000.00 \$5,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,100.00</th> <td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILI SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HUTER SOC CHAIN LINK FENCE, BLACK PVC, 4' MODDULAR BLOCK RETAINING WALL</td> <td></td>	\$3,500.00 \$3,500.00 \$5,000.00 \$5,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,100.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILI SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HUTER SOC CHAIN LINK FENCE, BLACK PVC, 4' MODDULAR BLOCK RETAINING WALL	
CY \$9,200,00 475 CY \$9,020,00 SY \$11,055,00 565,7 SY \$9,025,00 1 LF \$0,00 0 LF \$0,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 1 EA \$9,350,00 0 EA \$0,00 1 EA \$9,350,00 0 EA \$0,00 1 EA \$9,350,00 0 EA \$0,00 1 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00	\$3,500.00 \$3,500.00 \$5,000.00 \$5,000.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE POWERMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DETECTABLE WARNING DETECTABLE OF SIDEWALK PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV. HYDRAULIC SEEDING, SEEDING, FERTILL SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULICHING, HYDRA INLET PROTECTION DEVICE, FILTER SOC CHAIN LINK FENCE, BLACK PVC, 4'	
CY \$9,20000 A75 CY \$0,00 SY \$11,025,00 A65,7 SY \$3,959,90 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 1 EA \$0,00 0 EA \$0,00 0 EA \$0,00 0 EA \$3,850,00 0 EA \$0,00 0 EA \$3,00 0 EA \$3,00 EA \$0,00 0 EA \$3,00 0 EA \$3,00 EA \$0,00 0 EA \$0,00 EA \$0,00	\$3,500.00 \$3,500.00 \$5,000.00 \$5,750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$23,000 \$23,000.00 \$30,000 \$31,000.00 \$31,000.00 \$31,000.00 \$41,200.00 \$41,200.00 \$41,200.00 \$41,200.00 \$41,200.00 \$51,500.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. SI	
CY \$9,200.00 A75 CY \$9,000.00 SY \$11,025.00 A75 CY \$9,025.00 1 LF \$00.00 0 LF \$00.00 1 LF \$00.00 0 LF \$00.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$0,000 0 EA \$0.00 EA \$0,000 0 EA \$3,850.00 EA \$0,000 0 EA \$3,000 EA \$0,000 0 EA \$0,000 EA \$1,000,00 0 EA	\$3,500.00 \$3,500.00 \$5,000.00 \$5,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$2,000.00 \$2,000.00 \$3,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV. HYDRAULIC SEEDING, SEEDING, FERTILI SWPPP MANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN. EROSION CONTROL MULCHING, HYDROL	
CY \$9,20000 A75 CY \$9,0000 SY \$11,025,00 565,7 SY \$3,959,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 EA \$0,00 0 EA \$0,00 EA \$9,350,00 0 EA \$3,850,00 EA \$9,350,00 0 EA \$3,000 EA \$0,00 0 EA \$0,00 EA \$1,000,00 0 EA	\$3,500.00 \$9,000.00 \$59,000.00 \$51,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILI SWPPP PREPARATION SWPPP PREPARATION SWPPP PANANAGEMENT WATTLES, WOOD EXCELSIOR, 9 IN.	
CY \$9,2000 CY \$9,0000 CY \$9,0000 SY \$11,025,00 475 CY \$9,035,00 1 LF \$000 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$105,000,00 13.1 LF \$27,50,00 EA \$0,00 0 EA \$3,00 EA \$0,00 0 EA \$0,00 EA \$0,00 0	\$3,500.00 \$9,000.00 \$59,000.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE DAVEMENT, PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC SIGNS PANTED PAVEMENT MARKINGS, SOLV PHYDRAULIC SEEDING, SEEDING, FERTILL SWPPP PREPARATION SWPPP MANAGEMENT	
CY \$9,2000 CY \$0,00 CY \$17,651.00 475 CY \$9,055.00 LF \$11,025.00 565.7 SY \$3,959.90 1 LF \$00.00 UF \$0,000 1 EA \$0,000 0 LF \$0,000 EA \$0,000 0 EA \$0,000 EA \$0,000 0 EA \$0,000 EA \$0,000 0 EA \$0,000 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0,000 0 EA \$3,850.00 EA \$0,000 0 EA \$3,000 EA \$0,000 0 EA \$0,000	\$3,500.00 \$9,000.00 \$9,000.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,100.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVAL PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILI SWPPP PREPARATION	
CY \$9,2000 CY \$0,00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 655.7 SY \$3,953.90 1 LF \$000 0 LF \$0,000 1 EA \$0,000 0 EA \$0,000 EA \$9,350.00 0 EA \$0,000 EA \$0,000 0 EA \$0,000 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0,000 0 EA \$3,850.00 EA \$105,000.00 0 EA \$3,000 EA \$0,000 0 EA \$0,000 EA \$12,4000 0 EA	\$3,500.00 \$9,000.00 \$5,000.00 \$1,000	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PANEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF SIDEWALK REMOVAL OF BRIVEWAY REMOVAL AND REPLACE CURB SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC SIGNS PAINTED PAVEMENT MARKINGS, SOLV HYDRAULIC SEEDING, SEEDING, FERTILI	
CY \$9,2000 CY \$0,000 CY \$0,00 SY \$11,025,00 475 CY \$3,959,90 1 LF \$000 0 LF \$0,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 6 EA \$9,350,00 0 EA \$0,00 6 EA \$9,350,00 0 EA \$0,00 6 \$0,00 6 EA \$9,350,00 0 EA \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,850,00 6 \$3,800,00 6 \$3,800,00 6	\$3,500.00 \$9,000.00 \$9,000.00 \$1,000	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE REMOVAL OF SIDEWALK REMOVAL OF SIDEWALK REMOVAL OF DRIVEWAY REMOVAL SIDEWALK, PCC, 6 IN. DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CIGNS PANTED PAVEMENT MARKINGS, SOLV	
CY \$9,20000 CY \$0,0000 CY \$0,000 SY \$11,025,00 475 CY \$3,959,90 1 LF \$0,000 0 LF \$0,000 0 LF \$0,000 1 \$0,000 1 1 \$0,000 \$0,000 <td< td=""><th>\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.0</th><td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CIGNS</td><td></td></td<>	\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.0	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 4 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN. PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CIGNS	
CY \$9,200.00 CY \$0,00 CY \$0,00 SY \$11,025,00 475 CY \$0,025,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 1 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$105,000,00 13.1 LF \$27,510,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA	\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.0	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING PAVEMENT REMOVAL PAVEMENT REMOVAL PAVEMENT REMOVAL PAVEMENT REMOVAL TRAFFIC CONTROL TRAFFIC CONTROL CONNECTION TO EXISTING INITERACTION TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CONTROL TRAFFIC CONTROL CONNECTION TO EXISTING INITERACTION TRAFFIC CONTROL TRAF	
CY \$9,2000 CY \$0,000 CY \$0,00 SY \$11,025,00 475 CY \$0,025,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 0 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$105,000,00 0 EA \$3,850,00 EA \$0,00 EA \$0,00 EA \$105,000,00 0 EA \$0,00 EA \$0,00 <th>\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00</th> <td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING PAVEMENT REMOVAL CONNECTION CONN</td> <td></td>	\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE CONNECTION TO EXISTING PAVEMENT REMOVAL CONNECTION CONN	
CY \$9,2000 CY \$000 CY \$17,651.00 475 CY \$9,055.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$00.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 EA \$0,350.00 0 EA \$0.00 EA \$0,000 0 EA \$0.00 EA \$0,200 0 EA \$0.00 EA \$0,000 0 EA \$0.00 EA \$105,000.00 0 EA \$0.00 EA \$0.00 0 EA \$0.00	\$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$100.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. DETECTABLE WARNING DRIVEWAY, PAVED, PCC, 6 IN.	
CY \$9,2000 CY \$000 CY \$17,651.00 475 CY \$9,025.00 1 SY \$11,025.00 655.7 SY \$3,959.90 1 LF \$00.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 6 EA \$9,350.00 0 EA \$0.00 6 EA \$0.00 0 EA \$0.00 6 EA \$105,000.00 13.1 LF \$27,510.00 6 EA \$105,000.00 0 EA \$30.00 6 \$3,850.00 6 EA \$105,000.00 0 EA \$30.00 6 EA \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 6 \$0.00 <th< td=""><th>\$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1</th><td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF SIDEWALK REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN.</td><td></td></th<>	\$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF SIDEWALK REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN.	
CY \$9,2000 CY \$000 CY \$17,651.00 475 CY \$9,025.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$000 0 LF \$000 1 LF \$000 0 LF \$0.00 1 EA \$0,000 0 EA \$0.00 6 \$0.00	\$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,000.00 \$1,200.00 \$1	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAYEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF BRIVEWAY REMOVAL OF BRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 6 IN. SIDEWALK, PCC, 6 IN.	
CY \$9,2000 CY \$0,000 CY \$0,000 CY \$17,651.00 475 CY \$9,035.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$000 0 LF \$0,00 1 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$9,350.00 0 EA \$0,00 EA \$0,00 EA \$9,350.00 0 EA \$0,00 EA \$0,00 EA \$9,350.00 0 EA \$3,850.00 EA \$0,00 EA \$105,000.00 0 EA \$3,850.00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0	\$3,500.00 \$9,000.00 \$750.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,200.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF SIDEWALK REMOVAL OF DRIVEWAY REMOVE AND REPLACE CURB SIDEWALK, PCC, 4 IN.	
CY \$9,2000 CY \$0,000 CY \$0,00 SY \$11,025,00 475 CY \$0,025,00 1 LF \$0,00 0 LF \$0,00 1 EA \$0,00 0 LF \$0,00 0 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$9,350,00 0 EA \$0,00 EA \$0,00 EA \$105,000,00 13.1 LF \$27,510,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA	\$3,500.00 \$9,000.00 \$750.00 \$750.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DISIVEWAY REMOVE AND REPLACE CURB	
CY \$9,200.00 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.77 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 1 EA \$0.00 0 LF \$0.00 EA \$7,150.00 0 EA \$0.00 EA \$105,000.00 13.1 LF \$27,500.00 EA \$105,000.00 0 EA \$30.00 EA \$0.00 0 EA \$0.00 EA \$0.00 0 EA \$0.00 EA \$0.00 0 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00	\$3,500.00 \$9,000.00 \$750.00 \$750.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF DRIVEWAY REMOVAL OF DRIVEWAY	
CY \$9,2000 CY \$000 CY \$17,651.00 475 CY \$9,05.00 SY \$11,055.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 6 EA \$0,350.00 0 EA \$0.00 6 EA \$0,350.00 0 EA \$0.00 6 \$0.00	\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$2,500.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,000.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN. REMOVAL OF SIDEWALK	
CY \$9,20000 CY \$000 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$0,350.00 0 EA \$0.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00 EA \$0.00 EA \$0.00	\$3,500.00 \$9,000.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN. STANDARD CURB, PCC, 6 IN.	
CY \$9,2000 O CY \$0,00 CY \$17,651.00 475 CY \$9,025.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0,00 0 LF \$0,00 EA \$0,00 0 EA \$0,00 EA \$9,350.00 0 EA \$0,00 EA \$9,350.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0,00 0 EA \$0,00 EA \$0,00 0 EA	\$3,500.00 \$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$2,500.00 \$1,200.00 \$1,200.00 \$1,200.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE PAVEMENT, PCC, 6 IN.	
CY \$9,2000 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$00.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$7,150.00 0 EA \$3,850.00 EA \$105,000.00 13.1 LF \$27,510.00 EA \$105,000.00 0 EA \$3,000 EA \$000.00 0 EA \$30.00 EA \$0.00 0 EA \$0.00 EA \$0.00 0	\$3,500.00 \$9,000.00 \$750.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00	MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE CONNECTION TO EXISTING MANHOLE	
CY \$9,20000 CY \$0,000 CY \$17,651.00 475 CY \$9,035.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0,000 0 LF \$0,000 1 EA \$0,000 0 EA \$0,000 EA \$0,000 EA \$9,350.00 0 EA \$3,850.00 EA \$0,000 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0,00 EA \$0,000 0 EA \$0,00 EA \$0,00 EA \$105,000.00 0 EA \$3,850.00 EA \$0,00 EA \$105,000.00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA \$0,00 EA \$0,00 EA \$0,00 0 EA <t< td=""><th></th><td>MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE</td><td></td></t<>		MANHOLE ADJUSTMENT, MAJOR CONNECTION TO EXISTING INTAKE	
CY \$9,2000 CY \$0,00 CY \$17,651.00 475 CY \$9,05.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 LF \$0.00 LF \$0.00 EA \$0.00 O EA \$0.00 EA \$7,150.00 7 EA \$3,850.00 EA \$7,150.00 T EA \$3,850.00 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 EA \$0.00 EA \$0.00 O EA \$0.00 EA \$0.00 EA \$0.00 <t< td=""><th></th><td>MANHOLE ADJUSTMENT, MAJOR</td><td></td></t<>		MANHOLE ADJUSTMENT, MAJOR	
CY \$9,2000 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 LF \$0.00 LF \$0.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$7,150.00 7 EA \$0.00 EA \$7,150.00 7 EA \$3,850.00 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 EA \$0.00 EA \$0.00 0 EA \$0.00 EA \$0.00 EA \$0.00			
CY \$9,2000 CY \$000 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 1 EA \$0.00 0 EA \$0.00 EA \$0,350.00 0 EA \$0.00 EA \$7,150.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00 EA \$0.00		INTAKE ADJUSTMENT, MINOR	16 0
CY \$9,2000 O CY \$0,00 CY \$17,651.00 475 CY \$9,025.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 LF \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$9,350.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$3,850.00 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00		MANHOLE ADJUSTMENT, MINOR	15 0
CY \$9,2000 O CY \$0,00 CY \$17,651.00 475 CY \$9,035.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 LF \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$9,350.00 0 EA \$3,850.00 EA \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00		INTAKE, SW-501	14 0
CY \$9,2000 O CY \$000 CY \$17,651.00 475 CY \$9,05.00 SY \$11,035.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00 EA \$0.00 0 EA \$0.00		YARD DRAIN	13 0
CY \$9,2000 O CY \$000 CY \$17,65100 475 CY \$9,05500 LF \$11,035.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$105,000.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00 EA \$0.00 0 EA \$0.00		FIRE HYDRANT RELOCATION	12 0
CY \$9,2000 O CY \$000 CY \$17,65100 475 CY \$9,05.00 LF \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$7,150.00 7 EA \$3,850.00 LF \$105,000.00 13.1 LF \$27,510.00		FIRE HYDRANT ADJUSTMENT	11 0
CY \$9,2000 O CY \$000 CY \$17,651.00 475 CY \$9,055.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 LF \$0.00 EA \$9,350.00 0 EA \$0.00 EA \$7,150.00 7 EA \$3,850.00	\$2,100.00	ADJUST WATER SERVICE	10 0
CY \$9,2000 O CY \$000 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 EA \$0.00 EA \$9,350.00 0 EA \$0.00	\$550.00 1.	WATER SERVICE BOX	9 0
CY \$9,2000 O CY \$000 CY \$17,651.00 475 CY \$9,035.00 1 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 EA \$0.00 0 EA \$0.00		WATER CURB STOP ADJUSTMENT	8 0
CY \$9,200.00 0 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00 LF \$0.00 0 LF \$0.00		ADJUSTMENT OF FIXTURES	
CY \$9,200.00 0 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1 LF \$0.00 0 LF \$0.00	\$125.00	STORM SEWER, TRENCHED, RCP, 18 IN.	6 0
CY \$9,200.00 0 CY \$0.00 CY \$17,651.00 475 CY \$9,025.00 SY \$11,025.00 565.7 SY \$3,959.90 1	\$100.00	STORM SEWER, TRENCHED, PVC, 12 IN.	5 0
CY \$9,200.00 0 CY \$0.00 CY \$9,025.00		MODIFIED SUBBASE, 4 IN.	
CY \$9,200.00 0 CY \$0.00	\$19.00 92.	EXCAVATION, CLASS 10	3 0
	\$46.00 20	TOPSOIL, COMPOST-AMENDED	2 0
26 UNIT \$5,460.00 0 UNIT \$0.00 6.70	\$210.00 <mark>2</mark> 2	CLEARING AND GRUBBING	<u>1</u> 0
QUANTITY AMOUNT QUANTITY AMOUNT QUANTITY	TEM PRICE QU		NO. REF NO.
AS BID PREVIOUS ESTIMATED ESTIMATED			_

City of Windsor Heights, Iowa 2017 Sidewalk Improvements BMI PROJECT NO.A13.113494 63rd St.

MPLETED THROUGH MAY 25, 2018

\$251,204.40			\$116,358.90			\$425,601.00			TOTAL AMOUNT:		
\$3,300.00	LS	2.00 LS	\$3,300.00	LS	2	\$3,300.00	2 LS	\$1,650.00	CURB STOP VALVE REPLACEMENT	0	C0 2
\$1,050.00	<mark>LS</mark>	0.50	\$525.00	LS	0.25	\$2,100.00	1 LS	\$2,100.00	CONCRETE WASHOUT	0	<u>45</u>
AMOUNT	VTITY	QUANTITY	AMOUNT	TY	QUANTITY	AMOUNT	QUANTITY	PRICE	ПЕМ	REF NO.	NO.
ESTIMATED	ATED	ESTIMATED	ESTIMATED	TEB	ESTIMATED	ESTIMATED	ESTIMATED	돌		SUDAS	TEM
DATE	COMPLETED TO DATE	2	TIMATE	PREVIOUS ESTIMATE	PR		AS BIL				